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Insbuciions:

[ The marks are indicated in the right-hard moergn
{ifl There are TEN guesiions in this paper.

ff Atternpt any FIVE guesicns.

1. af What is & network? Whar do vou meas

— by metwork protocoi? Compare arzd

contrast berween TOPSIF and OSI/IS0
protoca! stack models.

Mismss bus and mesh =zemwork
. topologies with proper :lusratien and
real-life examples of each. 102
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2. (o) Why is framing reguired 22 data-iink
layer? Explain characier coun: method
of framing. Discuss the pros and cons of
this methed of framing
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f&! The following character encoding is
used in a data link protocol -
A DIDOSTILE
B: 11100011

FLAG - DI11111C
ESC @ 1110000360

Show the bit sequence wransmitted fir
binery] for the faur character frames
A B ESC FLAG when character caunt
method of framing is used. T

3. jal “Wlﬂ.tdﬂ]rnumcanhjrsﬁtﬁng window
protocol? Dhscuss Go-Back-N  sliding
window profocel in detail.

i} How are sequence number and window
sire  related m  Go-Back-N shiding
window protocol? Explain why window
size cannot be same as madmum
sequence number vahe F+T

4. QCalculate the data that will be transmitted
by sending machine for input data hir
11105101010,  where  agreed senerater
palynemial is ¥ + 6% +1 when CRC method
of rcaloulating checkeum is used. Verify
received datza bits at the receiver end for
errer-free and with emmor when there is no
error and when fourth hir s flipped in
Eaﬂﬁa':ﬁﬂedﬁﬁtatea]:.xﬁn;:]}rh L4
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8. Draw a neat and clean diagram of
Ethemet frame. Discuss the function of
each of its header fields,

S. fa) What is SNMP? What does it stand for?
Discuss, in detail, the pretocol with

proper illustrations and facis.

fbr  Compare and contrast between working
{bj Whar is FTP protocol? What does it of o

Circult  switching and  packet
stand for? Discuss, in derail, the switching. 7
protocnl with proper illustradons and
. T+7
facts.  akubihar.com 9. iz Discuss TCP transport layer protocol
with 2 labeled dimgram of TCP PDU in
6. ~fuj Compare and contrast between hub and detail,
bridge  devices I tfs 'Dfsu mdg' &l _What do you mean by ‘switching at
PEﬂ'ﬂ“E- working, VATIRAES merwork laver? What are the major
disadvantages. . cavegories of switches? Explain the
f&) . Discuss CSMA/CD MaAC protocsl in working of each one of them in de-ai]l, 7+7
“detail. o
10,

Write short notes on any fwo of the

7. A= What do you mean by multiplesng, following : Tx2=14

demultiplexing at transport layer? Howr

o
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are multiplexing and demuldplexing
done at transport layer?

Why is TCP called connection-oriented
while UDP is connection-less? Considse
twulnﬂﬂhhuﬁlhaiuﬂfth{EE?ﬁﬂ?Pﬁn
layer protocol for their commuanicaion.
Will the sending machine be able fo
send the data if the receiving machine is
in power-off state? Justify your answer .
in either case.
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fa} Adapuve and non-adaptive routing
&) PPP

fe  Count te infinity problem

1'.|"'|5'y~-E--sr'-*ij.':lz:ﬂ provided by network layer
{E‘},-H’HT} akubihar.com
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